| Efficiency vs Dxy |

> 0.1
<

$0.08F

R
2 0.07:— ---------------------
© -

0.02

006+
otk
T
0,08+

N e

5 L
O e S
<R * A

| Efficiency vs Dz |

510 15 20
TP dxy (cm)

—=— DQM_noFIt_stepZ_tibar-phaseI-newgeom
—e— DQM_noCPE_step2_ttbar-phasel-newgeom
—— DQM_cpeGenericTime_step2_ttbar-phasel-newgeom

N 0.2
o]

3PP SRS RSN SRS SN S —

> -

[&] - : : : : :
< - P Sreneseenens FEERREEE T T
T e s T S
9 B . N . : .
t014_ """"" """""" """""" -------- -----------
® 5 5 5 5 |

0.12

0.1+
0.08}
0.06}

0.02

0,04 bbb

—+— DQM_cpeTemplatedTime_step2_ttbar-phasel-newgeom

1

Ratio

......................

@

.......

LA oo :

30
TP dz (cm)




	Contents
	Page 1


